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Self Check 4.5
Due 
No due date 
Points 
3 
Questions 
3 
Time limit 
None
Allowed attempts 
Unlimited

Instructions

Attempt history
Attempt Time Score

KEPT Attempt 2
 less than 1 minute 2 out of 3

LATEST Attempt 2
 less than 1 minute 2 out of 3

Attempt 1
 less than 1 minute 0 out of 3


Correct answers are hidden.

Score for this attempt:
2 out of 3
Submitted 3 Apr 2019 at 10:57
This attempt took less than 1 minute.

This exercise will help you check your knowledge. Please take it as many
times as you need to master the concepts. Select the best answer for each
question.

Take the quiz again

0
/ 1 ptsQuestion 1IncorrectIncorrect

Air in a certain container has a pressure of 0.00025 Pa at a temperature
of 312 K. If we change the temperature to 240 K, what will be the
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pressure?

 
0.000187 Pa


 
0.192 Pa


 
0.0008 Pa


 
0.000192 Pa


Feedback: (P1/T1) = (P2/T2); (0.00025/312) = (P2/240) → P2 =
0.000192 Pa

1
/ 1 ptsQuestion 2

The pressure of 4 liters of oxygen gas is 0.00003 Pa. If we change the
volume to 1.5 liters, what will the resulting pressure be?

 
0.00008 Pa


 
0.00001125 Pa


 
0.0008 Pa


 
0.00003 Pa


Feedback: P1V2 = P2V2; (0.00003)(4) = (P2)(1.5) → P2 = 0.00008
Pa
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1
/ 1 ptsQuestion 3

The temperature of 18 liters of hydrogen gas is 373 K. If we change the
temperature to 273 K, what will the resulting volume be?

 
13.2 L


 
12.72 L


 
24.6 L


 
12.3 L


Feedback: (V1/T1) = (V2/T2); (18/373) = (V2/273) → V2 = 13.2 L

Quiz score:
2 out of 3


